LHC BOYS TENNIS TOURNAMENT

LHG i scoR LHG
TEAM SCORING

FLIGHT 1: 1st = 16, 2nd = 14, 3rd = 12, 4th = 10, 5th = 8, 6th = 6, 7th =4, 8th =2
FLIGHT 2: 1st = 14, 2nd = 12, 3rd = 10, 4th = 8, 5th = 6, 6th =4, 7th = 2, 8th =1

If a tie still exists, total the number of games won and lost between the two tied teams when they had singles head to head

UTTLE. WAWKEYE CONFERENCE competition in the tournament. In the event they are still tied, it will be broken in same manner using doubles. UTTLE. WAWKEYE CONFERENCE
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